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Exam One STAT 319 - Code A


KING FAHD UNIVERSITY OF PETROLEUM & MINERALS

DEPARTMENT OF MATHEMATICAL SCIENCES


DHAHRAN, SAUDI ARABIA

STAT 319: PROBABILITY & STATISTICS FOR ENGINEERS & SCIENTISTS 

Major Exam I, Summer Semester (053)

Time: 5:00 – 6:15 pm, Sat 8th July, 2006
Instructors: Walid Abu-Dayyeh
and

Raid Anabosi
Student Surname: Solution Key (A)           ID#

Sec#:  
      Ser.#:             

	Q
	Full Marks
	Marks Obtained

	1
	6
	

	2
	8
	

	3
	20
	

	4
	4
	

	5
	10
	

	Total
	48
	


1. The time in minutes that forty workers needed to assemble computers were registered. The following frequency distribution was obtained.
	Class limits
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	20 - 24
	3

	25 - 29
	21

	30 - 34
	12

	35 - 39
	6

	40 - 44
	2

	45 - 49
	1

	Total
	n = 45


Then 

(a) Find the percentage of workers that need at least 35 minutes to assemble the computer.
Percentage = 
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(b) Graph the histogram for this frequency distribution. ( 2 pts)
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(c)    Describe the data. The data are unimodal and right skewed. ( 2 pts)
2. Determine whether each of the following statements is true or false: ( 2 pts each) 
(a) The numbers of working persons are selected from a sample of families from Dammam. The data that we obtained are qualitative. F
(b) The interquartile range is affected by outliers. F
(c) The median satisfies the property that the sum of deviations of the data about it is zero. F
(d) The variance is a measure of variation. T
3. A random sample of companies has been selected from Saudi Arabia. The following are numbers of engineers that work in these companies: 3, 5, 2, 7, 7, 8, 8, 10, 12, 12, 13, 13, 18, 16, 4, 6, 8, 0, and 10. Then for this data, find the:
(a) Mode = 8 with f = 3 ( 2 pts)
(b) Mean = 
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(c) Median           0  2  3  4  5  6  7  7  8  8  8  10  10  12  12  13  13  16  18  
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(d) IQR = Q3 – Q1 = 12 – 5 = 7 ( 2 pts)
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(e) Standard deviation 
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(f) Coefficient of Variation
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(g) Coefficient of skewness 
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(h) The percentage of the data that lie within one standard deviation of the mean
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 ( 2 pts)
(i) Do the data satisfy the empirical rule? Why?
The data do NOT satisfy the empirical rule because at least the interval of one standard deviation about the mean does NOT contain 68% of the data approx. ( 2 pts)
(j) Construct a frequency distribution of the above data starting with the class [0,3).

	i
	Class
	f

	1
	[0, 3)
	2

	2
	[3, 6)
	3

	3
	[6, 9)
	6

	4
	[9, 12)
	2

	5
	[12, 15)
	4

	6
	[15, 18)
	1

	7
	[18, 21)
	1

	
	Total
	19


4. A box contains 9 red chips and 16 black chips.  If two chips are selected at random from the box, then find the probability:

(a) That both of them will be black if sampling with replacement. 
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(b) That only one of them will be black if sampling without replacement. 
P( 1 black only ) = 
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5. If the sample space 
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and 
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(a) 
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(b) 
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(c) 
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 = 0.1 + 0.12 + 0.1 + 0.1 + 0.05 + 0.1 + 0.09 = 0.66 ( 2 pts)
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(d) 
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(e) Are B and C independent? Why?
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So, B & C are NOT independent (Dependent). ( 2 pts)
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